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53401 [ojo|ctA E|EHAZ 750l 40 B3 ASFARE 1S(AHAZR)(2E) 1,032.51 1,018.05
53401 |ofolctA E|AHF HF0| 40 F AFARE 1 S(HAEZE)(2E) 1,031.4 1,016.94
53401 |[[[*tol=2]] -1.11 f.11
53404 |[ofolckA HEo| EH ZEXAEHFA) 1,057.93 1,017.98
53404 |ofolcta 50| ZH DEAME(FA]) 1,054.87 1,014.92
53404 |[[[Xtol3Y]] -3.06 -3.06
53465 [OjolciA 2 E0| 30 A AFAME 1S(AEE(EE) 1,001 1,038.29
53465 |ojolckA 50| 30 S MFAME 1S (AHAEE)(ZE) 1,090.18 1,037.47
53465 [[[#t0|5H]) -0.82 0.82
53466 [DlolctA H=0| 30 FA AFAME 1S (AAEE) A 1,016.34 1,008.87
53466 (OojctA HE0| 30 S XANEAUE 1S (HAER) A 1,015.58 1,008.1
53466 [[[At0|2A4]] -0.76 -0.77
53467 |olo|ctA 50| 30 B AFAME 1S(AHAER) C 1,013.95 1,006.5
53467 |olojctA 7 =0] 30 A A EAAEH1S(RHBES) C 1,013.19 1,005.74
53467 [[[Zto|2H]] -0.76 -0.76
53468 |ojolctA H 50| 50 2 AFALEH1S(FAEENEE) 1,160.24 1,048.05
53468 [ojolckA H=0] 50 B3 AEXAE 1S (FAEF)(ZE) 1,158.43 1,046.24
53468 |[[Xto]2H 1] -1.81 =1.81
53469 |Ofo|ctA~ HZ0| 50 S AFALME 15(FAEEHA 1,027.83 1,009.41
53469 |ojolctA HS0| 50 A XEAEH 1S (FAZEA 1,026.23 1,007.8
53469 |[[xl0|ZH]] -1.6 1.61
53470 (oOjojciAa HE0| 50 A XFAAE 15 (FAZ8)Ae 1,029.43 1,010.98
53470 |ofolctA H=o0| 50 B MFALE 152 (FAEE)Ae 1,027.83 1,009.37
53470 |[[#t0]|2A]] 1.6 1.61
53471 [ojojckx H=0| 50 B AFXAAME 1 S(FAEFNC 1,025 1,006.63
53471 [ofolctA 7 F0| 50 A AFAME 1S (FHEF)C 1,023.4 1,005.03
53471 |[[®t0|34]] 1.6 -1.6
53472 |[ojolctA H 0] 50 S AEXAE 1S (FAEF)Ce 1,028.01 1,009.59
53472 |ojo|ctA H 20| 50 EH XAEALUE 1S (FAEEH)Ce 1,026.41 1,007.98
53472 [[[#to]|2]] -1.6 1.61
53563 [otolckA H=0| 50 B3 AFALE 1S (FAEE)C-W 1,031.02 1,012.55
53563 [ojojctA H=o0| 50 B XAEXLAE 15 (FA EFIC-W 1,029.41 1,010.94
53563 [[[*tol2H]] -1.61 1.61
53577 |olo|lciA HE0| 70 S AFALE 1S (FA)2E) 1 412.28 1,047.64
53577 |oOtolctA H 0| 70 B AFXME 1S(FANEE) 1,110.04 1,045.31
53577 |[[&ol=5H]] 2.34 -2.33
53578 |oOfo|ctA A =0| 70 BA MFAME 15 (FA)A 1,025.57 1,007.21
53578 |Ojo|ckA H=E0| 70 B XAFXME 15 (FA)A 1,023.42 1,005.05
53578 |[[xlol2]] -2.15 2.16
53579 |ojolcka H=E0| 70 B AFALME 15 (FA)Ae 1,028.41 1,009.92
53579 [ojolcka 2 =0| 70 ZH XFAAE 15 (FA)Ae 1,026.25 1,007.76
53579 [[[xto|=2]] -2.16 -2.16
53583 |[ofojctA 80| 70 A XEXAE 15 (F4)C4 1,034.35 1,003.46
53583 [ojojctA H=o| 70 B XFXAEN 1S (FA)C4 1,032.18 1,001.29
53583 [[[XI0|2]] 247 -2.17
53584 |ojolctA H=0| 70 B XAEXAE 15 (F4)Ce 1,032.95 1,014.45
53584 [ojo|ctA AH=o| 70 B XEXME 15 (FA)Ce 1,030.78 1,012.28
53584 ([[Zlo]l324]] -2.17 -2.17
53587 |ojolctA HFo| 90 3 AFAME S (FA)28) 1,127.48 1,052.56
53587 [ojolckA HS0| 90 E3 ALFARME 1 5(FA)(2E) 1,124 .44 1,049.53
53587 [[[#t0l2H4]] -3.04 3.03
53588 |ojolckA HE0| 90 ZH AT AIAME 1S (FA)A 1,030 1,010.51
53588 |ojolcka HE0| 90 T AT ALE 1S (FA)A 1,027.22 1,007.73
53588 |[[xtolFH]] -2.78 -2.78
53589 |ojolcka H=E0| 90 B AFAAE 15 (FA)Ae 1,037.94 1,018.27
53589 |otojckA A S0l 80 B XAFAAE 15 (FA)Ae 1,035.14 1,015.47
53589 |[[#to|3%]] -2.8 2.8
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53590 [ofolctA {=0| 90 EH XFXAE 15(FA)CT 1,005.78 980.37
53590 |[ojojctA AH=0| 90 B AFALE 1 5(F4])C1 1,003.07 977.65
53590 |[[ZtolZAH]] -2.71 -2.72
53591 |ololct~ H=0| 90 S AEALE 15 (FA)C2 1,004.84 1,007.07
53591 |ofo|ctA 2 =0| 90 S AFEALAE 15 (F4)C2 1,002.13 1,004.36
53591 [[[#tolZ3H4]] 2.71 -2.71
53593 [ojo|ctA AH=Eo| 90 B3 AEXAE 15 (F4)C4 1,040.83 1,016.72
53593 [ofojcta A 50| 90 S AHFAHAE 1S (F4)C4 1,038.02 1,013.91
53593 |[[zlol=%]] 2.81 -2.81
53594 [ofolcta H=o| 90 B XIEALAE 15(F4])Ce 1,036.41 1,016.79
53594 |ojolctx 7 50| 90 EA AHFEAME 15 (F4)Ce 1,033.61 1,013.99
53594 |[[#tol29]] 2.8 -2.8
53597 |(ojolctA HEo| 50 MM E S AFEANUE 1S(FAEE)NSE) 1,090.86 1,042.43
53597 [ofolctA 7 E0| 50 HEXE SAH SN 1S (FAEUNEE) 1,089.07 1,040.64
53597 |[[#fo|FAH]] 1.79 -1.79
53598 [ojoictA AH=0| 50 HEHME SH AFAME 1S (FAEEIC 1,019.71 1,007.17
53598 [ololctA H=0| 50 HEHMF EH AFAMUE 1S (FAEEC 1,018.04 1,005.49
53598 |[[[Xl0|2]] 1.67 ~1.68
53599 [ojolckA H 50| 50 @M E S AFAME 1S (FAEH)Ce 1,026.43 1,010.01
53599 |ofolctA 2{=0| 50 AZXH FA AFAME 15(FAEZE)Ce 1,024.74 1,008.32
53599 |[[[xtolZH]] 1.69 -1.69
53617 |ofolckx H 20| 90 EH AHFEXRHAE 15 (FA)C-W 1,050.55 1,030.6
53617 |oto|ctA H=0| 90 S RIFAAE 15 (FA)C-W 1,047.72 1,027.77
53617 |[[xto]=H]] -2.83 -2.83
53648 |ojolctA AHSo0| 70 253 H &7 A NFAME 1S (FA)(28) 1,054.7 1,015.11
53648 |[ololctx 70| 70 ASFH B B AFAMNE 1S (FA)(2E) 1,052.47 1,012.87
53648 |[[#to]|23]] -2.23 2.24
53649 [ololctA A0 70 253H &7 EH AFEAME 1S(FA)C 1,029.69 1,002.96
53649 |ojolctr HE0| 70 258H &7 S KAFEALE 15(F4])C 1,027.5 1,000.78
53649 [[[xto|ZH]] -2.19 -2.18
53650 |Oto[ctA HS0] 70 A5SH &2 S AFALE 15 (F4])Ce 1,037.66 1,003.87
53650 [otolcta HE0| 70 £253H 7| S AFALAE 15(F4)Ce 1,035.46 1,001.67
53650 [[[xtolZ3A4]] 2.2 -2.2
53677 |ololckA HE0| 40 LUts S XAFEAME 1S(HAEERE) 1,056.94 1,031.95
53677 [ojolctA HE0| 40 Lt S MNEARIE1S(HAEHEE) 1,055.64 1,030.65
53677 [[[xt0]2H4]] -1.3 -1.3
53679 |Ojo|ciA HEO| 40LlE S AFAMUE 1S(HAUEY) C 1,017.11 1,002.39
53679 |ofolcta HSo| 40 LtE EA AFAAME1S(AHAEE) C 1,015.86 1,001.14
53679 |[[[xolZ2H]] -1.25 -1.25
53683 |DlolchkA 7{50] 40 L S AFAME 1S(AIAEE) Ae 1,017.58 1,002.81
53683 |ololctA 7=0] 40 Lis S ANFEALME 1S(AAER) Ae 1,016.33 1,001.55
53683 |[[xlol=32]] -1.25 -1.26
53907 (ojolckA H=0| 30 SA MNFAME1S(HAEE) S 1,022.84 1,013.68
53907 (ojolciA AH=0| 30 S AEXME1S(RAEE) S 1,022.05 1,012.89
53907 |[[xtol3H]] -0.79 0.79
53912 (ojolctA FH{So| 70 3 AFXIAE 15 (FA])S5-P 1,043.23 1,016.31
53912 |ojo|ctA HSEo0| 70 B NEXAE 15 (F4A)S-P 1,040.97 1,014.15
53912 |[[#tol2H4]] 2.26 -2.16
53914 |(ojo|CiA HE0| 90 S AFAAE 1S (FA])S 1,048.19 1,016.49
53914 |ojo|ctA 2 S0] 90 B ALFARIE 1S (FA)S 1,045.45 1,013.64
53914 [[[&t0] 2H]] 2.74 -2.85
53915 |ofo|ctA 7 =o0| 90 B XHFEAAME 1 S (FA)S-P 1,048.6 1,016.49
53915 |ojo|ctA H=o0| 90 B3 ALFEAAE 15 (FA)S-P 1,045.75 1,013.65
53015 [[[Xl0l2H]] 2.85 -2.84
53967 [ojolctx HEo| 50 W2 E S ANFALE 1S (FAERR)S 1,037.69 1,013.53
53967 |ofolckA Aol 50 ¢ 2HME ZH XANFAME 15 (FAEE)S 1,035.98 1,011.82
53967 {[[Xl0lZH4]] 1.71 -1.71
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54052 |ojolcla EEZ H 50| 40 B XNHEXAMEH 1S (A HEEClass C 1,030.03 1,015.55
54052 [ofo|ciA EEHF 7 20| 40 S ANEAMEH1S(RHAEAEZE)Class C 1,028.92 1,014.44
54052 |[[*tolZH]] -1.11 -1.11
54053 |ojojctA E| B HE0| 40 S AFXAAE 15 (R A EE)Class Ce 1,014.74 1,008.14
54053 |0jo|ctA E|EoiZ HE0| 40 B XFXME 15 (%A EE)Class Ce 1,013.65 1,007.05
54053 |[[xlol=%]] -1.09 1.09
54140 f(ojo|ciA H=o0| 90 53 KIFAME 15(FA)C-F 998.48 1,002.76
54140 ([ojo|ctAx 50| 90 E3 KIEAAME 1S (FA)C-F 995.79 1,000.07
54140 [[[xl0I2H]] -2.69 -2.69
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53401 |(Olo|CtA B & Z H50| 40 38 AFAME 1S (AHAZEN(E2E) 1,030.04 1,017.84
53401 |ojolctA E|=oig HE0| 40 A XNEAME 1SEAEE)(EE) 1,028.93 1,016.73
53401 |[[#tolZH]] -1.11 -1.11
53404 |Oio|CtA H=0| 33 REXAIE(FTA]) 1,051.68 1,017.98
53404 |ojo|CtA HR0| A TEXAE(FA]) 1,048.62 1,014.92
53404 |[[xtolga%A]] 3.06 -3.06
53465 |ololctA A50l 30 3 ANEAME1SZ(HAZE)(ESE) 1,089.08 1,038.04
53465 |oto|CtA HE0]| 30 A MEAUE 1S (HAZE)(2E) 1,088.26 1,037.22
53465 |[[Xt0o]ZH]] 0.82 -0.82
53466 |Ojo|CiA H50] 30 B3 AFAAME 1SFIEEE) A 1,014.53 1,008.61
53466 |Olo|CtA H=0| 30 B XAFEXIE 1S (AHAZE) A 1,013.77 1,007.85
53466 |[[Xt0|2]] 0.76 0.76
53467 |OfolCiA HE5o0| 30 B3 AFAME 1S(AAEE) C 1,012.13 1,006.23
53467 |OjolckA HS0| 30 3 ANEXRME1S(HAEE) C 1,011.37 1,005.47
53467 |([[Xtol3H4]] 0.76 -0.76
53468 |OloictA HS0| 50 3 AFAMENES(FAZE)(EE) 1,156.38 1,047.89
53468 |olojctA HF0| 50 B XNFEAAUE 1Z(FAEEHNE2) 1,154.57 1,046.08
53468 |[[[At0|FA4]] 1.81 -1.81
53469 |ofo|ctA HSFo0| 50 A XAEXLE 1S (FAZEHA 1,024.38 1,009.24
53469 |oto|CtA HE0| 50 Z3 XEAAE 1S (FAEEHA 1,022.77 1,007.63
53469 |[[Xto]| =X ]] -1.61 -1.61
53470 [ofo|cta HS0| 50 B3 AEAME 1S (FA ZE)Ae 1,025.98 1,010.82
53470 |ojolciA H 50| 50 S AFAAE 15(F4 EEHAe 1,024.38 1,009.21
53470 |[[&o|2%])] -1.6 -1.61
53471 |ojo|ciAa AH 50| 50 2 ANFEXME 1S (FAZE)C 1,021.54 1,006.45
53471 |ojolcta HSo0| 50 S XAFRME 1S (FAEE)C 1,019.94 1,004.85
53471 |[[%l0| 2] 1.6 1.6
53472 |ojo[ctA HE0| 50 EH AFALME 1S (FAEE)Ce 1,024.56 1,000.42
53472 |[ojolctA HEo| 50 BH XANEAMUE 1S (FAEZE)Ce 1,022.91 1,007.76
53472 |[[#tol3A]] 1.65 -1.66
53563 |olojctA HEF0| 50 3 XEXMUE 1S(FAZRC-W 1,027.57 1,012.39
53563 |oto|CiA HE0] 50 S KEXME 1S (FAEE)C-W 1,025.97 1,010.78
53563 |[[xlolZH]] -1.6 -1.61
53577 |OtolctA A0l 70 B AFARME 15 (FA)(RE) 1,107.52 1,047.55
53577 |ofolctA H S0l 70 S AEAHUE 1S (FANRE) 1,105.19 1,045.22
53577 |[[%to] 2 ]] -2.33 -2.33
53578 |Ojo|ckA HE0| 70 B AFXAE 15 (FA)A 1,021.05 1,007.09
53578 |Oto|CtA HE0| 70 S AHFRAE 15 (FA)A 1,018.9 1,004.93
53578 |[[xtol=2%]] -2.15 -2.16
53579 |Ofo|CtA HE0| 70 B ANFAME 15 (F4)Ae 1,023.89 1,009.81
53579 |ofolcix HS0| 70 B AFEXAME 15 (F4])Ae 1,021.73 1,007.65
53579 [[[*to|3H]] -2.16 -2.16
53583 |oOlo|ctA HFo0| 70 3 XFEXLAE 1S5(F4])C4 1,029.79 1,003.34
53583 |ojo|ctA H=0| 70 B XEXAE 15 (F4)C4 1,027.62 1,001.16
53583 |[[Atol@H]] -2.17 -2.18
53584 |ojolcta HSF0| 70 B XEXLE 15 (F4)Ce 1,028.4 1,014.34
53584 |ojolctA M50l 70 B KAEAME 15(F4A)Ce 1,026.23 1,012.17
53584 |[[xtol2]] 217 -217
53587 |ofolciA M 50] 90 B AFALUE 1S (FA )R E) 1,121.26 1,052.54
53587 |Ol0|CtA HE0| 90 B3 AFXAE 1S (FA)(E8) 1,118.23 1,049.51
53587 |[[%tol2H]] -3.03 -3.03
53588 |Olo|CtA HE0| 90 B3 AERME 15 (F4A)A 1,024.26 1,010.45
53588 |OlojCiA 0| 90 B3 AFXIAE 15 (F4)A 1,021.49 1,007.67
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53588

=207

—2.78

53589

1,

032.18

1,018.22

53589

[[Ztol ZH4]]
atojctA H50[ 00 B
oto|ct~ 7{50] 90 EA

1;

029.38

1,015.42

53589

[[xtol =24 ]]

2.3

2.8

53590

olo|ctA HEo| 90 A

L

000.16

980.3

53590

ojolctx 50| 90 E3

997.44

977.58

53590

[[=ol 2% ]]

=2.72

=202

53561

olo|ct~ H=o0| 90 EA

999.24

1,007.01

53591

otojctx 50| 90 E2

996.53

1,004.29

53591

[[xto| =% ]]

g L]

-2 72

53593

ojolctA HE0| 90

1;

035.04

1,016.67

53593

%
ojo|ctA HE0| 90 EH

1.

032.24

1,013.86

53593

[[xtol 3% ]]

-2.81

53594

ojo|ckA~ HEo0[ 90

T4

030.65

1,016.74

53594

%
ojo|ctA HEo0| 90 A

1;

027.85

1,013.95

53594

[[ztol=Z%4]]

~2.8

—2.79

53597

ato|CtA HE0| 50 A

1,

087.05

1,042.28

53597

btolct~ 50| 50 ¢

1;

085.26

1,040.49

53597

[[xtol =54 ]]

=119

=1.79

53598

oto|ctA H=20] 50 o

1,

016.11

1,007

53598

=
oto|ctA AH=0[ 50 42 A

T

014.43

1,005.32

53598

R

~-1.68

-1.68

53599

ato|ctA =0 50 ¢

1,

022.82

1,009.85

53599

=
ato|ct2 7 50| 50 A=A

L,

021.13

1,008.16

53599

[[Xto] 2]]

1.69

1.69

53617

1,

044.73

1,030.57

53617

ato|cix 50| 60 EA
=

ojo|ctA HE0| 90

1,041.9

1,027.74

53617

[[xtol = ]]

2.83

-2.83

53648

ojo[CiA~ HE0| 70

1,

050.06

1,015.02

53648

pu=
ato[ctA H 50| 70 &5

1,

047.83

1,012.79

53648

ENEET

-2.23

—2.28

53649

1,

025.11

1,002.85

53649

olo|ctA HEo| 70 &
ojo|ctA HE0| 70 &

1,

022.92

1,000.67

53649

[[&olFA]]

-2.19

-2.18

53650

ofo|ctA~ HEo| 7

1

033.06

1,003.77

53650

04
ofo|CtA HE0| 70 &

1

030.86

1,001.57

53650

[[Zto]l =24 ]]

=2

-2.2

53677

ook~ H 50| 40 Ltis

1,

054.09

1,031.75

53677

ofojct~ HS0| 40 Lis

1.

052.78

1,030.45

53677

[[xtol =24 ]]

-1.31

—1.3

53679

oot H50] 40 L=

1,

014.33

1,002.18

53679

olo|ctA HEo0| 40 LIs

1,

013.08

1,000.92

53679

[[Ztol 2 ]]

-1.25

-1.26

53683

olo|CtA HE0| 40 Ls

13

014.82

1,002.6

53683

alo|CtA HE0| 40 LE

1,

013.57

1,001.35

53683

[[xtol=%]]

1.25

1.25

53907

i

ofolctA H 50| 30

1,

020.97

1,013.39

53907

of% | ol
[}

ofo|cta HE0[ 30

1,

020.28

1,H42.7

53907

[[#to] =% ]]

0.69

0.69

53912

i

ojolctA HE0| 70

1;

038.61

1,016.21

53912

of | o

[

otojctA H 50| 70

1,

036.45

1,014.05

53912

[[xol=%]]

=216

2.16

53914

ofolctA 50| 90 EA

1,042.5

1,016.49
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53914 |OfolctA AHE0| 90 2 AERME 15 (FA)S 1,039.65 1,013.64
53914 |[[[Zto] =Y ]] -2.85 -2.85
53915 |ofojctx HE0| 90 B2 ASAAE 15 (F4])S 1,042.8 1,016.49
53915 |OlolCiA HS0| 90 S XEAAE 15 (F4])5- 1,039.96 1,013.65
53915 |[[xl0l2X]] -2.84 -2.84
53967 |ojolctA MHS0| 50 A FHE S AFALE 15 (FAEENS 1,034.05 1,013.37
53967 |DlO|CtA HE0| 50 A 2ME E2 AEAAE {5 (FAEENS 1,032.34 1,011.67
53967 |[[xol2%]] -1.71 -1.7
54052 |ofo|ciA E[XoiZ HE0| 40 3 AEAME 15 (A HEE)Class C 1,027.54 1,015.32
54052 |[Ofo|Ccta E[E0iZ HE0| 40 EH AEXAE 15 (A EEE)Class C 1,026.43 1,014.22
54052 |[[xtol=%]] bt 101
54053 |ofolctA EFAZ HEo| 40 B3 XEXAE 15 () HEE)Class Ce 1,012.3 1,007.92
54053 |Ofo|cta E|EAF AF0| 40 B AFAMUE 15 (A ZE)Class Ce 1,011.21 1,006.83
54053 |[[Xtol=4]] 1.09 1.09
54140 |ojo|CtA H 50| 90 S AIEXAE 15 (F4)C-F 992.05 1,002.73
54140 |ofo|CtA H 20| 90 A AEXAE 15 (FA)C-F 990.26 1,000.04
54140 |[[xl0|S%]] 2.69 2.69
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